FDOT	)	Florida	Florida Department of Transportation					
			Vendor Ranking		Page 1 of 1			
Letting:	04221007	October 07, 2022 10:30 AM	Call Order: 001	Contract:	E4W02-R0			
District:	District 4		Counties: BROWARD	Fed Aid No	: N/A			
Contract Time: Contract Desc:		DAR DAYS COUNTY DRAINAGE - ROUT	TINE MAINTENANCE	Project(s):	44104237201 (*)			

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Winning bid	\$349,777.50	100.00%
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$740,970.00	211.84%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	11/01/22	BEGIN TIME:	10:30 AM
	END DATE:	11/04/22	END TIME:	10:30 AM

B ( 07

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$350,000.00 and not the contractors bid total.

FDOT		F	lorida Department		10/07/2022		
			Tabulatio	n of Bids			Page 1 of 15
Letting:	04221007	October 07, 2022	Call Order:	001	Contract:	E4W02-R0	
District:	District 4		Counties:	BROWARD	Fed Aid No	: N/A	
Contract Time:	365 CALENI	DAR DAYS			Project(s):	44104237201	(*)

Contract Descr: BROWARD COUNTY DRAINAGE - ROUTINE MAINTENANCE

The work under this Contract consists of performing drainage repairs, installation, and maintenance activities along various roadways in Broward County.

MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on the . maximum limited budget amount of \$350,0000 and not the Contractors bid total. There is no guarantee of minimum or maximum amount to be issued under this contract.

- PERFORMANCE BOND: A Contract / Performance bond is required for this project. .
- REQUIRED SUBMITTAL WITH BID: Drainage Experience Form 850-070-05 must be submitted with the bid.

COMMERCIAL GENERAL LIABILITY INSURANCE: The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract and may not be shared with or diminished by claims unrelated to the contract. The policylies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policylies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention. .

,	WORKERS COMPENSATION INSURANCE	

Line No / Item ID Al Item Description	Alternate Quantity (1) ENVIRONMENTAL LAND Units DEVELOPMENT		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA				
() indicates item is bid as Lum	p Sum	Unit Price	Ext Amount	LL Unit Price	.C Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0102 14 TRAFFIC CONTROL OFFICE	25.000 R HR	75.00000	1,875.00	100 <u>.</u> 00000	2,500.00		
0010 0102 60 WORK ZONE SIGN	150.000 ED	15.00000	2,250.00	3.00000	450.00		
0015 0102 61 BUSINESS SIGN	15.000 EA	15.00000	225.00	100.00000	1,500.00		
0020 0102 71 13 TEMPORARY BARRIER, F&I, PROFILE, CONCRETE	75.000 LOW LF	60.00000	4,500.00	24.00000	1,800.00		



# 10/07/2022

#### Tabulation of Bids

Page 2 of 15

Lettin	<b>g:</b> 04	4221007 Oc	tober 07, 20	22 <b>Ca</b> l	l Order: 001		Contract:	E4W02-R0	
	e No / Item ID Description	Alternate	Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MAI CONSULTING	OF FLORIDA		
( ) in	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (A	SPHALT REI	PAIR (MECHANIC	AL) (TN				
	0102 71 23 DRARY BARRII ROFILE CONC	ER, RELOCATE, CRETE	150.000 LF	15.00000	2,250.00	24.00000	3,600.00		
	0102 74 1 IELIZING DEV UM, OR LCD	ICE- TYPES I, II, [	450.000 DI, ED	10.00000	4,500.00	3.00000	1,350.00		
	0102 76 V BOARD / AD V PANEL	VANCE WARNIN	30.000 G ED	175.00000	5,250.00	20.00000	600.00		
	0102 89 1 DRARY CRASH ECTIVE OPTIC		2.000 LO	1,500.00000	3,000.00	3,000.00000	6,000.00		
	0102 99 BLE CHANGE FEMPORARY	ABLE MESSAGE	30.000 ED	50.00000	1,500.00	50.00000	1,500.00		
0050 SEDIMI	0104 10 3 ENT BARRIER		100.000 LF	6.00000	600.00	10.00000	1,000.00		
0055 FLOAT	0104 11 ING TURBIDIT	Y BARRIER	100.000 LF	12.00000	1,200.00	30.00000	3,000.00		
	0104 12 D TURBIDITY DRCED PVC	BARRIER- NYLO	210.000 N LF	5.00000	1,050.00	10.00000	2,100.00		
0065 INLET F	0104 18 PROTECTION	SYSTEM	5.000 EA	150.00000	750.00	1,000.00000	5,000.00		



### 10/07/2022

#### Tabulation of Bids

Page 3 of 15

Lettin	<b>g</b> : 0422	1007 0	October 07, 202	22 <b>C</b> a	Order: 001		Contract:	E4W02-R0	
	e No / Item ID n Description	Alternate	Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
	dicates item is bid as	s Lump Sum		Unit Price	Ext Amount	LI Unit Price	-C Ext Amount	Unit Price	Ext Amount
	SECTION: 00	001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
	0110 2 1 ING & GRUBBING IN CONTRACT)	) (PUSH	0.200 AC	9,500.00000	1,900.00	50,000.00000	10,000.00		
0075 REMO	0110 4 10 /AL OF EXISTING		120.000 E SY	39.00000	4,680.00	50.00000	6,000.00		
0080 REGUL	0120 1 AR EXCAVATION	I	75.000 CY	32.00000	2,400.00	200.00000	15,000.00		
0085 BORRO MEASU	0120 2 2 DW EXCAVATION JRE	, TRUCK	75.000 CY	29.00000	2,175.00	200.00000	15,000.00		
0090 SUBSC	0120 4 DIL EXCAVATION		75.000 CY	19.00000	1,425.00	200.00000	15,000.00		
0095 CHANN	0120 5 NEL EXCAVATION	I	75.000 CY	25.00000	1,875.00	200.00000	15,000.00		
0100 EMBAN	0120 6 NKMENT		75.000 CY	32.00000	2,400.00	200.00000	15,000.00		
0105 FLOWA	0121 70 ABLE FILL		25.000 CY	289.00000	7,225.00	1,500.00000	37,500.00		
0110 SELEC	0125 3 T BEDDING MATE	ERIAL	10.000 CY	129.00000	1,290.00	100.00000	1,000.00		



#### 10/07/2022

# Tabulation of Bids

Page 4 of 15

Letting	: 0422	1007 C	october 07, 202	2 Cal	Order: 001		Contract:	E4W02-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ENVIRONMI DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
() india	cates item is bid as	Lump Sum		Unit Price	Ext Amount	LL Unit Price	.C Ext Amount	Unit Price	Ext Amount
	SECTION: 00	01 (	ASPHALT REP	AIR (MECHANIC)	AL) (TN				
	0160 4 STABILIZATION		40.000 SY	37.50000	1,500.00	100.00000	4,000.00		
	0173 77 1 RFACE PRESSUF EMENT	RE GROUTIN	50.000 IG, CY	199.00000	9,950.00	100.00000	5,000.00		
	0285709 AL BASE, BASE	GROUP 09	80.000 SY	39.00000	3,120.00	100.00000	8,000.00		
	0285711 AL BASE, BASE	GROUP 11	80.000 SY	39.00000	3,120.00	100.00000	8,000.00		
	0285715 AL BASE, BASE	GROUP 15	80.000 SY	39.00000	3,120 <u>.</u> 00	100.00000	8,000.00		
MILLING	0327 70 1 EXISTING ASPH NT, 1" AVG DEP		500.000 SY	15.00000	7,500.00	19.00000	9,500.00		
MILLING	0327 70 5 EXISTING ASPH NT, 2" AVG DEP		50.000 SY	25.00000	1,250.00	25.00000	1,250.00		
MILLING	0327 70 6 EXISTING ASPH NT, 1 1/2" AVG [		500.000 SY	25.00000	12,500.00	25.00000	12,500.00		
MILLING	0327 70 8 EXISTING ASPH NT, 2 1/2" AVG [		50.000 SY	25.00000	1,250.00	25.00000	1,250.00		



#### 10/07/2022

#### Tabulation of Bids

Page 5 of 15

Letting	<b>j:</b> 04	4221007	October 07, 20	22 <b>Ca</b>	I Order: 001		Contract:	E4W02-R0	
	No / Item ID Description	Alternate	e Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
() ind	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	LL Unit Price	.C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
	0327 70 19 EXISTING A ENT, 3/4" AVG		100.000 SY	25.00000	2,500.00	25.00000	2,500.00		
0165 SUPERF TRAFFIC	0334 113 PAVE ASPHAI C C	LTIC CONC,	20.000 TN	375.00000	7,500.00	500.00000	10,000.00		
0170 SUPERF TRAFFIC	0334 115 PAVE ASPHAI C E	LTIC CONC,	10.000 TN	350.00000	3,500.00	600.00000	6,000.00		
0175 MISCEL	0339 1 LANEOUS AS	PHALT PAVE	7.000 MENT TN	419.00000	2,933.00	1,000.00000	7,000.00		
0180 CONCR WALLS	0400 2 11 ETE CLASS II	, RETAINING	5.000 CY	1,199.00000	5,995.00	1,500.00000	7,500.00		
	0415 1 6 RCING STEE LANEOUS	L-	50.000 LB	19.00000	950.00	10.00000	500.00		
0190 INLETS,	0425 1351 CURB, TYPE	: P-5, <10'	1.000 EA	6,500.00000	6,500.00	10,000.00000	10,000.00		
0195 INLETS,	0425 1355 CURB, TYPE	: P-5, Partial	1.000 - EA	3,500.00000	3,500.00	10,000.00000	10,000.00		
0200 INLETS,	0425 1361 CURB, TYPE	P-6, <10'	1.000 EA	6,200.00000	6,200.00	10,000.00000	10,000.00		



#### 10/07/2022

#### Tabulation of Bids

Lettin	i <b>g:</b> 04	221007	October 07, 202	22 <b>Cal</b>	l Order: 001		Contract:	E4W02-R0	
	e No / Item ID n Description	Alternate	Quantity	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
() in	dicates item is bio	l as Lump Sum		Unit Price	Ext Amount	LL Unit Price	.C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REP	AIR (MECHANIC	AL) (TN				
0205 INLETS	0425 1365 S, CURB, TYPE	P-6, PARTIAL	1.000 EA	3,500.00000	3,500.00	10,000.00000	10,000.00		
0210 INLETS	0425 1451 6, CURB, TYPE	J-5, <10'	1.000 EA	6,100.00000	6,100.00	10,000.00000	10,000.00		
0215 INLETS	0425 1461 6, CURB, TYPE	J-6, <10'	1.000 EA	5,900.00000	5,900.00	10,000.00000	10,000.00		
0220 INLETS	0425 1701 6, GUTTER, TYP	PE S, <10'	1.000 EA	6,900.00000	6,900.00	10,000.00000	10,000.00		
0225 INLETS	0425 1713 6, GUTTER, TYP	PE V, J BOT, <	1.000 10' EA	6,900.00000	6,900.00	10,000.00000	10,000.00		
0230 MANH(	0425 2 41 DLES, P-7, <10'		1.000 EA	6,900.00000	6,900.00	10,000.00000	10,000.00		
0235 MANHO	0425 2 43 DLES, P-7, PAR	TIAL	1.000 EA	3,200.00000	3,200.00	10,000.00000	10,000.00		
0240 MANHO	0425 2 61 DLES, P-8, <10'		1.000 EA	6,900.00000	6,900.00	10,000.00000	10,000.00		
0245 MANHO	0425 2 71 DLES, J-7, <10'		1.000 EA	6,900.00000	6,900.00	10,000.00000	10,000.00		



Tabulation of Bids

# 10/07/2022

Page 7 of 15

Letting	ı: 04	221007	October 07, 202	22 <b>Cal</b>	I Order: 001		Contract:	E4W02-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
	icates item is bio	l as Lump Sum		Unit Price	Ext Amount	LL Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	AIR (MECHANIC	AL) (TN				
	0425 2 73 LES, J-7, PAR	TIAL	1.000 EA	5,500.00000	5,500.00	10,000.00000	10,000.00		
	0425 2 92 LES, J-8, >10'		1.000 EA	6,900.00000	6,900.00	10,000.00000	10,000.00		
	0425 2110 LES, REPAIR		1.000 EA	2,950.00000	2,950.00	25.00000	25.00		
0265 INLETS,	0425 4 ADJUST		6.000 EA	999.00000	5,994.00	4,400.00000	26,400.00		
	0425 5 LE, ADJUST		2.000 EA	1,450.00000	2,900.00	2,500.00000	5,000.00		
PIPE CU	0430175118 LVERT,OPTIC AL,ROUND, 18		15.000 LF	139.00000	2,085.00	300.00000	4,500.00		
PIPE CU	0430175124 ILVERT,OPTIC AL,ROUND, 24		15.000 LF	169.00000	2,535.00	300.00000	4,500.00		
	0430175130 LVERT, OPT 30"S/CD	MATERIAL,	10.000 LF	169.00000	1,690.00	300.00000	3,000.00		
PIPE CU	0430175148 LVERT, OPT 48"S/CD	MATERIAL,	10.000 LF	249.00000	2,490.00	800.00000	8,000.00		



# 10/07/2022

#### Tabulation of Bids

Page 8 of 15

Lettin	<b>g:</b> 04	221007	October 07, 20	22 Cal	I Order: 001		Contract:	E4W02-R0	
	e No / Item ID Description	Alternat	e Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
() in	dicates item is bio	l as Lump Sum		Unit Price	Ext Amount	LL Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
	0430175154 ULVERT, OPT   D, 54"S/CD	MATER <b>I</b> AL,	10.000 LF	329.00000	3,290.00	1,000.00000	10,000.00		
	0430175160 ULVERT, OPT   D, 60"S/CD	MATERIAL,	10.000 LF	399.00000	3,990.00	1,000.00000	10,000.00		
	0430175218 ULVERT,OPTIC RIAL,OTHER-EL		15 <u>.</u> 000 LF 'S/CD	129.00000	1,935.00	200.00000	3,000.00		
	0430175224 ULVERT,OPTIC NAL,OTHER SH D		15.000 LF RCH,	169.00000	2,535.00	200.00000	3,000.00		
	0430982125 ED END SECTI D, 18" CD	ON, OPTION	1.000 AL EA	1,450.00000	1,450.00	3,600.00000	3,600.00		
	0430982129 ED END SECTI D, 24" CD	ON, OPTION	1.000 AL EA	1,750.00000	1,750.00	3,600.00000	3,600.00		
	0430982133 ED END SECTI D, 30" CD	ON, OPTION	1.000 AL EA	1,750.00000	1,750.00	3,600.00000	3,600.00		
	0430982625 ED END SECTI ICAL / ARCH, 1		1.000 AL - EA	1,450.00000	1,450.00	2,400.00000	2,400.00		



#### 10/07/2022

# Tabulation of Bids

Page 9 of 15

Letting	<b>g:</b> 04:	221007 (	October 07, 202	22 <b>Cal</b>	Order: 001		Contract:	E4W02-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
	licates item is bid	as Lump Sum		Unit Price	Ext Amount	LL Unit Price	.C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MECHANIC)	AL) (TN				
	0430982641 ED END SECTIO CAL / ARCH, 44		1.000 L- EA	3,850.00000	3,850.00	8,000.00000	8,000.00		
0340 PIPE LII	0431 1115 NER, CURED II	N PLACE, 15"	35.000 LF	90.00000	3,150.00	600.00000	21,000.00		
0345 PIPE LII	0431 1118 NER, CURED IN	N PLACE, 18"	35 <u>.</u> 000 LF	125.00000	4,375.00	600.00000	21,000.00		
0350 PIPE LII	0431 1124 NER, CURED IN	N PLACE, 24"	35.000 LF	149.00000	5,215.00	700.00000	24,500.00		
0355 PIPE LII	0431 1130 NER, CURED IN	N PLACE, 30"	35.000 LF	199.00000	6,965.00	700.00000	24,500.00		
0360 PIPE LII	0431 1136 NER, CURED I№	N PLACE, 36"	35.000 LF	229.00000	8,015.00	700.00000	24,500.00		
0365 CHEMIC INLET	0433  1 CAL GROUT RE	EPAIR, MANHO	1.000 DLE / EA	565.00000	565.00	3,000.00000	3,000.00		
0370 TRENC	0436 1 1 H DRAIN, STAN	NDARD	15.000 LF	299.00000	4,485.00	200.00000	3,000.00		
0375 FRENC	0443 70  3 H DRAIN, 18"		15.000 LF	179.00000	2,685.00	200 <u>.</u> 00000	3,000.00		



### 10/07/2022

#### Tabulation of Bids

Page 10 of 15

Letting: 04221007	October 07, 20	22 Cal	I Order: 001		Contract:	E4W02-R0	
Line No / Item ID Alterna Item Description	ite Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
() indicates item is bid as Lump Sun	1	Unit Price	Ext Amount	LL Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0380 0443 70 4 FRENCH DRAIN, 24"	15.000 LF	205.00000	3,075.00	200.00000	3,000.00		
0385 0455133 2 SHEET PILING STEEL, TEMPORA CRITICAL	50.000 RY- SF	39.00000	1,950.00	81.00000	4,050.00		
0390 0455133 3 SHEET PILING STEEL, F&I PERM	50.000 ANENT SF	59.00000	2,950.00	81.00000	4,050.00		
0395 0520 1 10 CONCRETE CURB & GUTTER, TY	40.000 PE F LF	49.00000	1,960.00	44.00000	1,760.00		
0400 0520 2 4 CONCRETE CURB, TYPE D	40.000 LF	49.00000	1,960.00	44.00000	1,760.00		
0405 0520 3 VALLEY GUTTER- CONCRETE	40.000 LF	49.00000	1,960.00	100.00000	4,000.00		
0410 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK	120.000 SY	81.00000	9,720.00	129.00000	15,480.00		
0415 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK	120.000 SY	81.00000	9,720.00	112.00000	13,440.00		
0420 0527 2 DETECTABLE WARNINGS	40.000 SF	39.00000	1,560.00	44.00000	1,760.00		



# 10/07/2022

Page 11 of 15

#### Tabulation of Bids

Letting	<b>g:</b> 04	221007 (	October 07, 202	2 Cal	I Order: 001		Contract:	E4W02-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
() ina	licates item is bio	l as Lump Sum		Unit Price	Ext Amount	LL Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REP	AIR (MECHANIC	AL) (TN				
0425 RIPRAP	0530 1100 9, SAND-CEME	NT BAGS	5.000 CY	699.00000	3,495.00	1,860.00000	9,300.00		
0430 RAISED	0706 1 3 PAVEMENT N	/ARKER, TYPE	43.000 EB EA	15.00000	645.00	24.00000	1,032.00		
	0710 11101 D PAVEMENT ARD, WHITE, S		1.000 GM	650.00000	650.00	1,000.00000	1,000.00		
STANDA	0710 11102 D PAVEMENT ARD, WHITE, S HANGE AND I		1.000 GM D, 8"	650.00000	650.00	1,000.00000	1,000.00		
STAND	0710 11123 D PAVEMENT ARD, WHITE, S WALK AND RO		750.000 LF 12"	2.50000	1,875.00	2.00000	1,500.00		
STAND	0710 11124 D PAVEMENT ARD, WHITE, S NAL OR CHEV	SOLID FOR	750.000 LF	2.99000	2,242.50	2.00000	1,500.00		
STAND	0710 11125 D PAVEMENT ARD, WHITE, S R CROSSWAL	SOLID FOR ST	750.000 LF OP	2.99000	2,242.50	2.00000	1,500.00		
		MARKINGS, SKIP, 10-30 O	1.000 GM R 3-9	950.00000	950.00	1,000.00000	1,000.00		



#### 10/07/2022

#### Tabulation of Bids

Page 12 of 15

Letting:	04221007 (	October 07, 20	22 Cal	I Order: 001		Contract:	E4W02-R0	
Line No / Item ID Item Description		Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	LL Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0465 0710 11160 PAINTED PAVEMEN STANDARD, WHITE SYMBOL	IT MARKINGS,	5.000 EA	75.00000	375.00	50.00000	250.00		
0470 0710 11170 PAINTED PAVEMEN STANDARD, WHITE	IT MARKINGS,	5.000 EA	75.00000	375.00	25.00000	125.00		
0475 0710 11201 PAINTED PAVEMEN STANDARD, YELLO	IT MARKINGS,	1.000 GM	1,100.00000	1,100.00	1,000.00000	1,000.00		
0480 0710 11202 PAINTED PAVEMEN STANDARD, YELLO INTERCHANGE AND	IT MARKINGS, W, SOLID FOR	1.000 GM D, 8"	1,500.00000	1,500.00	1,000.00000	1,000.00		
0485 0710 11224 PAINTED PAVEMEN STANDARD, YELLO DIAGONAL OR CHE	IT MARKINGS, W, SOLID FOR	500 <u>.</u> 000 LF	3.50000	1,750.00	2.00000	1,000.00		
0490 E101 72 MOBILIZATION (EM RESPONSE)	ERGENCY	3.000 EA	1,900.00000	5,700.00	10,000.00000	30,000.00		
0495 E425 73 2 REPAIR LEAKS IN M INLETS	IANHOLES AND	3.000 EA	250.00000	750.00	2,200.00000	6,600.00		
0500 E430 94 1 DESILT PIPE, 0 to 24	4"	100.000 LF	6.00000	600.00	12.61000	1,261.00		



Tabulation of Bids

# 10/07/2022

# Page 13 of 15

Letting: 04221007 Oc	tober 07, 20	22 <b>Ca</b> l	I Order: 001		Contract:	E4W02-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MAI CONSULTING	OF FLORIDA		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (A	SPHALT REP	PAIR (MECHANIC	AL) (TN				
0505 E430 94 2 DESILT PIPE, 25-36"	100.000 LF	8.00000	800.00	17.61000	1,761.00		
0510 E430 94 3 DESILT PIPE, 37-48"	50.000 LF	10.00000	500.00	19.00000	950.00		
0515 E430 94 4 DESILT PIPE, 49-60"	50.000 LF	12.00000	600.00	21.00000	1,050.00		
0520 E430 94 5 DESILT PIPE, 61" OR GREATER	50.000 LF	15.00000	750.00	21.00000	1,050.00		
0525 E432 4 STORM SEWER INSPECTION (VIDEO CAMERA)	50.000 LF	5.99000	299.50	4.00000	200.00		
0530 E573 1 HYDRO-SEEDING - APPLICATION OF SLURRY INCLUDING WOOD FIBER, SEED, FERTILIZER, TACKIFIER & DYE	200.000 SY	1.08000	216.00	3.61000	722.00		
0535 E575 1 4 SODDING, ST AUGUSTINE	200.000 SY	7.50000	1,500.00	9.61000	1,922.00		
0540 E575 1 8 SODDING, BAHIA	200.000 SY	6.50000	1,300.00	9.61000	1,922.00		



Tabulation of Bids

# 10/07/2022

Page 14 of 15

Letting:	04221007	October 07, 20	22 <b>Ca</b> l	Order: 001		Contract:	E4W02-R0	
Line No / Item Item Descriptio		ate Quantity Units	(1) ENVIRONM DEVELO		(2) ROGAR MA CONSULTING	OF FLORIDA		
· · · · ·	is bid as Lump Sui		Unit Price	Ext Amount	LL Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0545 E999 3	1	40.000	35.00000	1,400.00	100.00000	4,000.00		
HYDRAULIC PUM	P, 4"	HR						
0550 E999 3 2	2	50.000	35.00000	1,750.00	100.00000	5,000.00		
HYDRAULIC PUM	P, 6"	HR						
	PHALT REPAIR HANICAL) (TN)	Section Totals:		\$349,777.50		\$740,970.00		

Contract Grand Totals:

\$349,777.50

\$740,970.00

FDO	Ē]	Florida Department of Transportation						
			Tabulatio	n of Bids			Page 15 of 15	
Letting:	04221007	October 07, 2022	Call Order:	001	Contract:	E4W02-R0		
			to file a protest wi		cribed in section			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.